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MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1) Structural damage may be discovered by measuring ________.
A) tire wear
B) frame diagonals
C) with a carpenter's level
D) toe-in

1)

2) The proper order in which to perform a four-wheel alignment is ________.
A) front camber, caster toe, rear camber, then rear toe
B) rear camber, front camber, caster, front toe, rear toe
C) rear camber and toe, front camber, caster, then front toe
D) front toe, camber, front caster, rear camber, then rear caster

2)

3) On a vehicle with electronically controlled suspension or stability control, what extra step may
be needed to complete an alignment?

A) Reduce the tire pressure
B) Equalize the rear tie rods
C) Reset the steering angle sensor
D) Adjust the air bag system

3)

4) Which angle is largest?
A) 0.55 degrees
B) 1/4 degree
C) 45 minutes
D) 1/2 degree

4)

5) Strut rods, if they are adjustable, can be used to adjust which angle?
A) Toe
B) Camber
C) Caster
D) Toe-out on turns

5)

6) Which alignment procedure may be done using self-calibration?
A) Toe
B) Camber
C) Caster
D) Steering angle sensor (SAS)

6)

7) Technician A says that, as wear occurs, camber usually becomes negative. Technician B says that,
as steering linkage wear occurs, toe usually becomes toe-out from an original toe-in
specification. Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians A and B
D) Neither technician A nor B

7)

1



8) Which alignment angle is most likely to need correction?
A) Toe
B) Camber
C) Caster
D) SAI

8)

9) What is the most common cause of memory steer?
A) Binding suspension components
B) Binding steering components
C) Both A and B
D) Neither A nor B

9)

10) Technician A says that TOOT is the last adjustment made in a four wheel alignment. Technician
B says that TOOT is a diagnostic angle that is not adjusted in a typical alignment. Which
technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians A and B
D) Neither technician A nor B

10)
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